PARAGON CONVENT SCHOOL
SECTOR —24B . CHANDIGARH

CH-5(MULTIPLICATION )

PROBLEM SUMS
CLASS- 2 SUBJECT - MATHS

Q-1 There are 7 days in a week . How many days are there in 11

weeks?

Sol : Days in 1 week =7
Days in 11 weeks = 11 X7 =77

Q-2. Rita has 5 packets of pencils . Each packet has 10 pencils . How
many pencils are there in all?

Sol ; Pencils in 1 packet = 10
Pencils in 5 packets = 10 x 5 =50
Q-3.The cost of a toy car is Rs 100 . What will be the cost of 3 such
cars ?
Sol : Cost of 1 toy car = Rs 100
Cost of 3 toy cars = 100 x3 = Rs 300

Q-4. The maths book has 112 pages . How many pages will be there in 7
such books ?

Sol : Pages in 1 book =112
Pages in 7 books =112 x 7 =784

Q-5. A book shelf can hold 40 books . Find the total number of books
in 8 shelves.

Sol : Books in 1 shelf = 40
Books in 8 shelves = 40 x 8 = 320
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